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199. 00 4. NO. 9+19.0
209. 56 4. 4.10 10. 56 43. 30 EC. 4
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250. 34 3. 4.05 17.07 69. 13 SP. 5
260. 00 1. 2.75 9.66 26. 57 NO. 13
267. 41 0. 0.95 1. 41 7.04 EC. 5
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320. 00 0.0 0.00 20. 00 0.00 NO. 16
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179. 56 0.0 0.00 14.56 0.00 BC. 4
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192. 30 0.1 0.10 4.05 0. 41 NO. 9+12. 3
199. 00 0.0 NO. 9+19.0
209. 56 0.0 0.00 10. 56 0.00 EC. 4
220. 00 0.0 0.00 10. 44 0.00 NO. 11
233. 217 0.0 0.00 13.27 0.00 BC. 5
250. 34 0.0 0.00 17.07 0.00 SP. 5
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220. 00 0.0 0.00 10. 44 0.00 NO. 11
233. 217 0.0 0.00 13.27 0.00 BC. 5
250. 34 0.0 0.00 17.07 0.00 SP. 5
260. 00 0.0 0.00 9.66 0.00 NO. 13
267. 41 0.0 0.00 1. 41 0.00 EC. 5
280. 00 0.0 0.00 12.59 0.00 NO. 14
300. 00 0.0 0.00 20. 00 0.00 NO. 15
320. 00 0.0 0.00 20. 00 0.00 NO. 16
330. 00 0.0 0.00 10. 00 0.00 NO. 16+10.0
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165. 00 0.0 0.0 NO. 8+5.0
179. 56 0.0 0.0 0.00 0.00 14.56 0.00 0. 00|BC. 4
188. 25 0.0 0.0 0.00 0.00 8.69 0.00 0. 00|NO. 9+8. 25
192. 30 0.0 0.0 0.00 0.00 4.05 0.00 0. 00|NO. 9+12. 3
199. 00 0.0 0.0 NO. 9+19.0
209. 56 0.0 0.0 0.00 0.00 10. 56 0.00 0. 00|EC. 4
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BAREIMELER (EAr) #AE
(2ITRX)
£ £ 2 K-t & EA bl =1 B #H =2 &t
B A& T
EER IOV Y AfE L NO.10+1.10~NO. 16+10.0 m 128.4
R NO.10+11. 68~N0. 13+9. 59 m 59.0
R NO.13+18. 40~NO. 16+10. 0 m 51.6

£t 239.0
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o . EHXMI52 5
fhEEMGEIER (Ffr) FE
(2 IR)
T B - % &A B A B % B &t
B % M T
H—FKL—JL ciE LR |NO. 9+12. 3~N0. 9+18.9 m 16. 04

Bt

16.04




_ = @7, =]
HAEMBMET £iHE RN DSH
4 o % = = B # =
BEMEET
21.6 + 7.9 + 13.0 + 4.3 = 52.7 53
EHEEY m3
2.0 + 1.3 )/ 2.0 x 14.60 28
X 2.0 = 48.2 m2
2.0 + 1.4)/ 20 x 9.00
X 2.0 = 30.6 m2
RiEER 2350 (48.2 + 30.6 )x 0.35 = 27.6
1.40 x 28.3 X 0.2 = 719 8
JE5k Y avyY-}
1.62 x 4.0 x 2 = 13.0 13
BREta e
= 107.0 107
a9 ) — EEERR t =4em 107.0 X 0.04 = 4.3 m3 m?2
= 52.7 53
R i3 m3
52.7 x 2.35 = 123.9 124
05 2.35t/m3 t
BEEEY
4.00 x 6.00 x 0.40 = 0.6 10
B EET t =40cm m3
= 0.6 10
B 58] m3
9.6 X 2.50 = 24.0 24
05 2.50t /m3 t
HmEEY (ZR&EH)
BF-400 0.046 x 33.5 = 1.5 2
RNF 1) 2—L|L=33. 5m m3
= 1.5 2
B 58] m3
1.5 x 2.50 = 3.9 4
05 2.50t /m3 t
TAIT7I bk
= 41.0 41
R As t=4cm m?2
41.0 x 0.04 = 1.6 2
R m3
1.6 x 2.35 = 3.9 4
05 2.35t/m3 t
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BEYHEIMEEZER (&R #ASE
(2IX)
% b B K-+ & EB Al =1 BEi ¥ =2 &t
BEYIIELT
W|OBEY il
AREERT 122350, H=1. 3~2. Om P.-20.1~P.-5.5 m 14.6
LAl
122350, H=1. 4~2. Om P.-0.7~P.8.3 m 9.0
£t 236
ERYaLSY— I t=20cm P.-20.1~P.8.3 m 28. 4
£t 284
BIERiEE BEHhABEE R NO.9+11.7 AT 1.0
EhAESE L NO.9+16.8 E07) 1.0
£t 20
BEEY
Bk EE T RCERkR t=40cm NO. 9+11. 7~NO. 9+16. 8 AT 1.0
it 1.0
BB EY (ZREM)
RYUFJ1ya—L BF-400 L NO. 8+8.35~N0.9+8.7 m 33.5
£t 335
MEIELT
FAIT7IL g% t=4cm NO. 9+17. 1~NO0. 10+9. 0 m?2 41.0
£t 410
V) — M t=4om NO. 12+2. 0~NO. 14+1.0 m?2 107.0
£t 1070
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15 REER

H H o Bl BANL £y
7 NEEE N m 44, 85
A O BLRE I 4. 84
Kk rzJ—hk 24-8-40-BB

O EEE N 4.91
= 5 I 54. 60
YL a v 18-8-25-BB I 4.57

FERERL .
FEREA RC-40 (t=200mm) m? 45. 7
7 NEEE N m’ 107.7
fe O R n 18.7

AR T AR — R
A OB EE I 18.8
= 5 I 145. 2
LR T e X — A I 2.9
D6 ~D13 D13 kg 1660
D16~D25 D16 I 3160
29:1] SD345

D19 I 929
A& 2 N 5749
8T FkH. Hhm2 70. 2
AT 24 TR — F (£<40kN/m2) Zen 52.0

B AR 8.12+7.94=16.04m B
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3T HEHH

3.1 Ak
3.1.1 TERR

1-1 2-2
W o Wh
II ~J2 @ 21 O HH
TR
O "
SR
'
: "
nf 11
Wz :
o | T EW| OB | Em
We 5.3 L 8.3
H 0.4 929
X OWCIX. B e i g
BN A5EfE mOn
HEWr Al 2 Z B LT-AKRE & LL2 = 8.300 / Cos( Deg ) = 8.307
B R At 8.12+7.94=16.04m = 1
HEWr Al & BB L 7= TERRUE H2 = 0.400 * Cos( Deg ) = 0.400
Y AL B Fikes o (o)
1-1 SC WC x« H= 5.300% 0.400 =  2.120
iRz o ()
Sz Wz % H = 6. 120 ¥ 0.400 = 2.448
Sh Wh % H = 6. 120 ¥ 0.400 = 2.448
SslL LL % H = 8. 300 ¥ 0.400 = 3.320
SsR LR % H = 8. 300 ¥ 0.400 = 3.320
ST (LL2 +1R2 ) /2% Wec = ( 8307+ 8307) /2% 5.300= 44.027

HOE FEE IOR

T A5 (Sb)

227 ) — MEFE(Vb) = ST % H2 = 44.027 * 0.400 = 17.611m’

= Sz + Sh + SsL + SsR + ST

= 2.448 + 2.448 + 3.320 + 3.320 + 44.027

= 55.563m°
EOE =27V — MK _OR




3. 1.2 JERK

T &c i gt
w e
2 o5 [TEw| & 5|+ rw
WwC 5.3 L 8.3
H 0.4
929

X WCIL, 5 1] B i g
BN A5EfE mOn

FET 2 i £ : Deg = 2.291 HEWiABL( 4.0% )
: LR2 = 8.300 / Cos( Deg ) = 8.307
B R At 8.12+7.94=16.04m = 1
YA B iRz o (o)
1-1 SC WC % H = 5. 300 * 0.400 = 2.120

HOE HEE IOR

TURETIRE (Sb) = Sz + Sh + SsL + SsR = 2.448 + 2.448 + 3.320 + 3.320 = 11.536m"
HOE =7 Y — MK B0l

227 ) — MEFE(Vb) = ST % H2 = 44.027 * 0.400 = 17.611m’



3. 1.3 fEfuEE

1-1 2-2
P 2] Wh
| |&c 5
-l
)17
W
o | T EW| OB | Em
We 0.4 L 8.3
H 1.4 929
X OWCIX. B e i g
HOW £mas EOm
HEWr Al 2 Z B LT-AKRE & LL2 = 8.300 / Cos( Deg ) = 8.307
[y il 8.12+7.94=16.04m = 1
HEWr Al & BB L 7= TERRUE H2 = 1.400 * Cos( Deg ) = 1.399
Y AL B iRz o (o)
1-1 SC WC % H = 0.400 % 1.400 =  0.560
iRz o (o)
Sz Wz * H = 0. 462 ¥ 1.400 = 0.647
Sh Wh * H = 0. 462 ¥ 1.400 = 0.647
SsL LL * H = 8. 300 ¥ 1.400 = 11.620
SsR LR * H = 8. 300 ¥ 1.400 = 11.620
ST (LL2 +1R2 ) /2% WC = ( 8307+ 8307) /2% 0.400=  3.323




3. 1.4 F51H|EE

2 2l
/ AN
G| T
W
ioBF [T EM] R o5 | EWm
WwC 0.4 8.3
H 1.4
% WCIX, 5 M Wik g
HOW £mas EOm
T A) B A Deg

MW Al 2 BB LI-AKRE S @ LL2

LL

2.291 fEBraE (o 4.0% )
8.300 / Cos( Deg ) = 8.307

LR2 = 8.300 / Cos( Deg ) = 8.307
MEWr AL 2 5 8 L 7= THRUE H2 = 1.400 % Cos( Deg ) = 1.399
B E [ F mio ()
1-1 sC WC % H= 0.400 *  1.400 =  0.560
FL o)
Sz Wz * 1 = 0. 462 % 1.400 0. 647
Sh Wh * 1 = 0. 462 * 400 = 0.647
SsL LL * 1 = 8. 300 * 400 = 11.620
SsR LR * 1 = 8. 300 * 400 = 11.620
ST (LL2 +1R2 ) /2% WC = ( 8307+ 8307 /2x 400 = 3.323
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SW
L CTW _RTW
- \9\ @ée
% I I
S &£
G  B 7  ())
SH 1.4
SW 4.5
LTW 0.2
LTH 0.2 929
LT 0.283
RTW 0.2
RTH 0.2
0.283
CTW 4.1
g il 8.12+7.94=16.04m =X 1
RCH 1.2
ks R LB
G  B 7  ()) \
LLTs 8.3
LLTh 8.3
LRTh 8.3
LRTs 8.3
LLBs 8.3
LLBh 8.3 TE R 4Rl JEE hig fRl
LRBh 8.3
LRBs 8.3 SW SW
TOTRT CBW
1 T | @ T D T @
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L JH)

HERT 2 B A . Deg
MW AR 2 ZRE LA RE S 0 Lkl

FHbmfe BOM

2.291 HEWr B 4.0% )
Lix / Cos( Deg )

D | RS T (G

1-1 SLTC LTW * LTH / 2 = 0.200 * 0.200 / 2 = 0.020

1-1 SRTC RTW * RTH / 2 = 0.200 * 0.200 / 2 = 0.020

AL T ()

SLTz LTWz /2% LTH = 0. 231 / 2 % . 200 . 023
SLTh LTWh /2 % LTH = 0.231 / 2 * . 200 . 023
SLTL LsL * LTH = 8. 300 * . 200 . 660
SLTT (LsL2 + LhL2 ) / 2% LTW = ( 8.307 + 8.307) / 2 * . 200 . 661
SLTS (LsL2 + LhL2 ) / 2 % LT = (  8.307 + 8.307) / 2 * . 283 . 351
SRTz RTWz / 2% RTH = 0. 231 / 2 % . 200 . 023
SRTh RTWh /2 % RTH = 0.231 / 2 * . 200 . 023
SRTR LsR * RTH = 8. 300 * . 200 . 660
SRTT (LsR2 + LhR2 ) / 2 % RTW = ( 8.307 + 8.307) / 2 * . 200 . 661
SRTS (LsR2 + LhR2 ) / 2 * RT = (  8.307 + 8.307) / 2 * . 283 . 351

HCN
SbLT =

SbRT =

HPeERE BOM

SLTz + SLTh - SLTL - SLTT + SLTS
0.023 + 0.023 - 1.660 — 1.661 + 2.351
-0. 924m”

SRTz + SRTh - SRTR — SRTT + SRTS
0.023 + 0.023 - 1.660 — 1.661 + 2.351

-0. 924m°

TP FE (Sb) = SBLT + SbRT = — 0.924 — 0.924 = —1. 848m°

HCN
VbLT

VbRT

27— MRE BOR

SLTC % LLTs — SLTC % ALLTh / 3 + SLTC % ALLTh / 3
0.020 * 8.300 — 0.020 * 0.115 / 3 + 0.020 * 0.115 / 3
0.166m’

SRTC * LRTs + SRTC % ALRTh / 3 - SRTC * ALRTh / 3
0.020 * 8.300 + 0.020 * 0.115 / 3 = 0.020 * 0.115 / 3

0. 166m"°

227 Y — MAFE(Vb) = VBLT + VBRT = 0.166 + 0.166 = 0. 332m’




EOE WEmEss mOR

TERR RS ChobanS
JEERR  HfE TeibanS

= 55.563m"
= 11.536m"

FEAABEE FS LSokuhekiS = 21.211m°
A RIBEE FS RSokuhekiS = 21.211m°

/N> FHEFE HanchiS

= —1.848m"

RREEF HontaiTotalS = ChobanS + TeibanS + LSokuhekiS + RSokuhekiS + HanchiS

= 55.563 + 11.536 + 21.211 + 21.211 - 1.848

= 107. 673m*

mOm = 7 V—MSEAF EOR

TERR A% ChobanV
R AFE TeibanV

= 17.611m*
= 17.611m*

FEARBEAFS LSokuhekiV =  4.649m’
FIBEAFS RSokuhekiV =  4.649m’

N F{KFE HanchiV

= 0.332m’ 929

RIREEF HontaiTotalV = ChobanV + TeibanV + LSokuhekiV + RSokuhekiV + HanchiV

= 17.611 + 17.611 + 4.649 + 4.649 + 0.332

= 44. 852m®

il

8.12+7.94=16.04m = 1




3.2
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I
1
i
I

(SeR
1
:
] I y
2] & o] M el
w ‘ Wz
o | T EW| OB | Em
WwC 5.5 L 8.3
H 0.1
929
X WCIL, 5 1] B i g
HMOW A5355EE mON
iRz o ()
1-1 SC WC % H = 5.500 * 0.100 = 0. 550
ki 8.12+7.94=16.04m = 1
iRz o ()
Sz Wz * H = 6. 351 * 0.100 = 0. 635
Sh Wh * H = 6. 351 * 0.100 = 0. 635
SsL LL * H = 8. 300 * 0.100 = 0. 830
SsR LR * H = 8. 300 * 0.100 = 0. 830
ST (LL2 +LR2 ) /2% WC = ( 8.307 + 8.307) / 2 * 5.500 = 45. 689

HOE HEE IOR

T PETiAE (Sb) = Sz + Sh + SsL + SsR = 0
HOE =27 V— M mONA
227 ) — MEFE(Vb) = ST % H = 45.689 * 0.100 = 4. 569m°

HOE A/ mEon

S ue)

A= ST

t=
45. 689

.635 + 0.635 + 0.830 + 0.830 = 2.930m"

200  mm

m2
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353 gz
3.4 HEFE

3.4.1 /£ Qo #EkEE

B
+RHESE B
6.120 6.120
- r-
) 3 ¥ )

BOR GO Bgmis ECl

183l SideLng = 0.693m
SN EAE  GaimenS = 2. 751m’

Wiki&f NaimenS = 2. 586m”

A EFE SidelLS = 0. 000m”
A EFE SideRS = 0. 000m”

T OEEOHEFE DodomeS = GaimenS + NaimenS + SidelS + SideRS

2.751 + 2.586 + 0.000 + 0.000
5. 337m’ 929
BN OB a7 Y— M B0l

ANE RS GaimenS = 2. 751m’

Wik NaimenS = 2. 586m”
B [ Hb = 0.600m
B R At 8.12+7.94=16.04m =

( 2.751 + 2.586 + 2.668 * 4 ) % 0.600 / 6
1.601m’



ERENE
0.800
uw r~
~ ~
© ©
o™ o
0.800
BOW A3EE BRERE mON
L RE R WingB = 0.600m
S i T F GaimenS = 2.140m’
P i T NaimenS = 3.067m’
{8 _EE RS SideTpS =  1.605m”
AT FEEFS SideBmS = 0. 000m”

FERBEDHEIAR LWingS

ERERNE
1.146

2.675

2.677

1.146

= GaimenS + NaimenS + SideTpS + SideBmS

= 2.140 + 3.067 +

= 6.811m°

WMOW AEEE a7 ) — MR

CANTETAY - Gaimen
N I T AR Naimen
o ] T FE Middle
B Hb

FEBRBEDRAE LWingV

S = 2.140m’
S = 3.067m’
S = 2.603m"

= 0.600m

1.562m’

|

1.605 + 0.000

( GaimenS + NaimenS + MiddleS % 4 ) * Hb / 6
( 2.140 + 3.067 + 2.603 * 4 ) *x 0.600 / 6



BERZE5NE

1.000
P 2
© ©
od o

1.000
BOE A3EE: BPEHEsE mOn
HLRE R WingB = 0.600m
S\ T i A GaimenS = 2.569m’
P i T NaimenS = 1.680m
T e fS SideTpS = 1. 541m”
AT FEBEAS SideBmS = 0. 000m”

HHEEBEDOHE A RWingS

MOW G3EEE o227 ) — MR

41 T FE GaimenS
PR T T R NaimenS
W] AR MiddlesS
B Hb

AILEEDRFE RWingV

ARERT
0.654

2.568

2.569

0.654

= GaimenS + NaimenS + SideTpS + SideBmS

2.569 +

5. 790m”

2. 569m”
1. 680m”
2.124m°
0. 600m

1.680 + 1.541 + 0.000

|

( GaimenS + NaimenS + MiddleS * 4 ) * Hb / 6

(

2.569 +

1.275m’

1.680 + 2.124 % 4 ) % 0.600 / 6




N T

INFIE@E NFRET
0.800 0.462
—
o o o o
o o o o
o~ o~ o~ ~N
o™~ o™~ o~ o™~

HOE Ly F BPmiE mEOn
NV FEFE GaimenS = 1. 760m°
BEBEMHEIAE  NaimenS = 1.016m”
N F OmEFE LHantiHS = GaimenS — NaimenS

= 1.760 - 1.016
= 0. 744n’

HOE v F ar7V— MM BOR
REEJCIRMIE La = 2.200m
HEELEAIE Lb = 2.200m

ARSI RE Le = 2.200m

PR R Ld = 0.462m

ENENTIES Lh = 0.400m

FeoN FORFE LWingHV

mﬂ

/|

(La+Llb+Lc) *xLd*xLh/6

(2.200 + 2.200 + 2.200 ) * 0.462 * 0.400 / 6

= 0.203m’



HoNvF

NFIEE NoFRER
0.462 . 0.462
= = o =
o o o o
~N N ~N ~N
o~ o~ o o~

HOE o7 BPEE mOl

NUFHEFE GaimenS = 1.016m°

BEBEMHEIAE  NaimenS = 1.016m”

HNF OHEFE RHantiHS = GaimenS — NaimenS
= 1.016 - 1.016
= 0.000m*

HOE - F 2> V— MM mROR

REEJCIRMIE La = 2.200m

REEILIAE Lb = 2.200m

ARSI RE Le = 2.200m

PR R Ld = 0.462m

ENENTIES Lh = 0.400m

FioNr FOERFE RWingHV

mﬂ

\|

(La+Llb+Lc) *xLd*xLh/6

( 2.200 + 2.200 + 2.200 ) * 0.462 * 0.400 / 6
= 0.203m’



u

EOE WEmEss mOR

FEoN > FIHFE
FoN FHEFE
1EoKEE 1A

HEEAFE WingTotalS = DodomeS + LWingS + RWingS + LHantiHS + RHantiHS + CutoffWS

TR O RE RS
TEHRE  RFE
R RFE
o~ FIRFE
TN FIRFE
1E7KBE  RA

HEEAFE WingTotalV = DodomeV + LWingV + RWingV + LHantiHV + RHantiHV + CutoffWV

& DodomeS =
& LWingS =

RWingS =
LHantillS =
RHantillS =
CutoffWs =

5. 337m’
6.811m"
5. 790m”
0. 744m”
0. 000m”
0. 000m”

5.337 + 6.811 + 5.790 + 0.744 + 0.000 + 0.000

= 18. 682m*
HOE =27 V—MMEEAF mON

DodomeV =
LWingV =
RWingV =
LHantiHV =
RHantiHV =
CutoffWV =

1.601m’
1. 562m’
1. 275m’
0. 203m’
0. 203m’
0. 000m’

1.601 +

4. 844m’

1.562 +

1.275 + 0.203 + 0.203 + 0.000



3.4.2 AN EEE

T D
TRHENE TEHENE
6.120 6.120
& © 5 o
& b i

BOR OB Bgmis ECl

+83AIf SideLng = 0.693m
SN EAE  GaimenS = 2. 297m’
Wiki&f NaimenS = 2. 459m”

A EiFE SidelLS = 0. 000m

A i fE SideRS 0. 000m”
T OEEDOHEFE DodomeS = GaimenS + NaimenS + SidelS + SideRS

2.297+ 2.459 + 0.000 + 0.000

= 4.756m"
HOE HDEE a7V —MAE BOR 929
SNE RS GaimenS = 2. 297m’
Wi A NaimenS = 2. 459m°
R ERE MiddleS = 2. 378m”

T OEEDOKFE DodomeV = ( GaimenS + NaimenS + MiddleS * 4 ) * Hb / 6

IE il 8.12+7.94=16.04m = 1

= 1.427n’



EEEMAER EEENG@
1.000 1.346
=] w2 (=] -
(] od od o
0 o 0 o
(Y] o od o
1.000 1.346
BOE A3EE: APEsE mOn
L RE R WingB = 0.600m
S\ T i A GaimenS = 2.526m’
P i T NaimenS = 3. 400m”
AT EE RS SideTpS = 1.517m°
AT FEBEAS SideBmS = 0. 000m”

FERBEDHEIAR LWingS

= GaimenS + NaimenS + SideTpS + SideBmS
= 2.5246+ 3.400 + 1.517 + 0.000

= 7.442n°

WOW AE#EEE o 7 )— M 1O

S\ R
P
D i
B

GaimenS
NaimenS
MiddleS
Hb

FEBRBEDRAE LWingV

2.526m"
= 3.400m’
2.963m"
= 0.600m

( GaimenS + NaimenS + MiddleS * 4 ) * Hb / 6

( 2.526+ 3.400 + 2.963 x4 ) * 0.600 / 6

1.778m’



HEBESME HEEBND
1.000 0.654
[4=] ol [Ep] C\l
od od od o
@ © © ©
o o o o
1.000 0.654
EON A3EE Whms EONl
L RE R WingB = 0.600m
S i T FE GaimenS = 2.625m°
PN IF T A NaimenS = 1.716m
AT EE RS SideTpS = 1.573m”
AT FEBEAS SideBmS = 0. 000m”

HHEEBEDOHE A RWingS

= GaimenS + NaimenS + SideTpS + SideBmS
= 2.625 + 1.716 + 1.573 + 0.000

= 5.914m’

HOW fF#EE =7V — Mg BONR

S\ R
P
R A
B

GaimenS
NaimenS
MiddleS
Hb

AILEEDRFE RWingV

2. 625m"
= 1.716m"
2.170m"
= 0.600m

( GaimenS + NaimenS + MiddleS * 4 ) * Hb / 6

( 2.625 + 1.716 + 2.170 * 4 ) % 0.600 / 6

1.302m’




N T

NFIEE NoFRER
0.800 0.462
o~ o o~ o~
= = = =
o~ o~ o~ o~

HOE Ly F BPmiE mEOn
NUFHEFE GaimenS = 1. 738m”
BEBEMEAE  NaimenS = 1.003m”
N F OmEFE LHantiHS = GaimenS — NaimenS
= 1.738 - 1.003
= 0.734n’
HOE v F ar7V— MM BOR
REEJCIRMIE La = 2.172m
BEELEAIE Lb = 2. 172m
ARSI RE Le = 2.172m
PR R Ld = 0.462m
ENENTIES Lh = 0.400m
FeoN FORFE LWingHV

mﬂ

/|

(La+Llb+Lc) *xLd*xLh/6

(2,172 + 2.172 + 2.172 ) * 0.462 * 0.400 / 6
= 0.20Im’



HoNvF

INFIEE NoFRED
0.462 _0.462
o~ o~ o™ o™
= = = =
o~ o~ o~ o

HOE o7 BPEE mOl

NUFEFE GaimenS = 1.003m°

BEBEMEAE  NaimenS = 1.003m”

HNF OHEFE RHantiHS = GaimenS — NaimenS
= 1.003 - 1.003
= 0.000m*

HOE - F 2> V— MM mROR

REEJCIRMIE La = 2.172m

BEEILIAE Lb = 2.172m

ARSI RE Le = 2.172m

PR R Ld = 0.462m

ENENTIES Lh = 0.400m

FioNr FOERFE RWingHV

mﬂ

\|

(La+Llb+Lc) *xLd*xLh/6

( 2.172 + 2,172 + 2.172 ) * 0.462 * 0.400 / 6

= 0.20Im’



u

EOE WEmEss mOR

FEoN > FIHFE
FoN FHEFE
1EoKEE 1A

HEEAFE WingTotalS = DodomeS + LWingS + RWingS + LHantiHS + RHantiHS + CutoffWS

TR O RE RS
TEHRE  RFE
R RFE
o~ FIRFE
TN FIRFE
1E7KBE  RA

HEEAFE WingTotalV = DodomeV + LWingV + RWingV + LHantiHV + RHantiHV + CutoffWV

& DodomeS =
& LWingS =

RWingS =
LHantillS =
RHantillS =
CutoffWs =

4. 756m”
7. 442m*
5.914m”
0. 734m”
0. 000m”
0. 000m”

4.756 + 7.442 + 5.914 + 0.734 + 0.000 + 0.000

= 18. 847m*
HOE =27 V—MMEEAF mON

DodomeV =
LWingV =
RWingV =
LHantiHV =
RHantiHV =
CutoffWV =

1. 427m’
1.778m’
1. 302m’
0.201m’
0.201m’
0. 000m’

1. 427 +

4.908m’

1.778 +

1.302 + 0.201 + 0.201 + 0.000



